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CfEE (25%)

1. Determine the amounts that correspond to the letters by completing the following independent sets of financial statement .

( Assume no new investments by the owners. ) (12%)
Set A, Set B

Income Statement
Revenues $ 2,200 507)
Expenses LIy _10,400
Net income S (29 $ (8)

Statement of Owner’s Equity

Beginning Balance $ 5,800 $ 30,800
Net Income (32 3,200
Less Withdrawals __ 400 {9)
Ending Balance $ 6,000 3. (10 AR S do 8

Balance Sheet :
Total Assets 5 (4) $ 42,000
Liabilities § 3,200 $ 10,000
Owner’s Equity (5 )
Total liabilities and Owner’s Equity 346 ekl B

2. On July 1, 2002, Cheng Co. pays $30,000 to Wan Insurance Co. for a 3-year insurance contract. Both companies have

fiscal years ending December 31. For Cheng Co., Journalize the entry on July 1 and the adjusting entry on December
31, 2002. (5%)
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3. Assume the following data with regard to i

Aug, 1 Inventory
8 Purchase
22 Purchase
Goods Available for Sale
Aus - 1S Sale
28 Sale

Inventory, Au gust 31
Assuming that the inventory consists of

August 22, calculate the cost of ending iny

=0 September 1, Mayes Corporation’s sto
Common stock, $10 par value

Paid-in capital in excess of par value

Retained eamings
Total stockholders’ equity

On September I, Mayes declares and dist
share.

Required: -
. Compute the book value per share
2. Indicate the balances in the three
distributed.

P9 ~ The condensed single-step income statement of Union Chemijcal Comp

nventory for Alexis Company;
80 units @ $10 per unit
100 units @ § 11 per unit
70 units @ $12 per unit
250 units
90 units
50 units

110 unjts

(8%

$ 800
1,100
— 840

22,740

60 units from the August 8 purchase and 50 units. From the purchase of

entory and cost of goods sold.

ckholders’ equity is as follows,

$300,000
30,000
20,000

2420.000

(25 %)

ributes a 10% stock dividend when the market value of the stock js 518 per

(a) before the stock dividend and (b) after the stock dividend.

stockholders’ equity accounts after the stock div

herbicides , appears as follows: (30 %)
Sales
Less: Cost of Goods Sold $380,000
Operating Expenses ( including depreciation of $41 ,000) 190,000
Income Taxes 20,000

Net Income
Selected accounts from the company’s balar

Accounts Receivable
Inventory

Prepaid Expenses
Accounts Payable
Accrued Liabilitics
Income Taxes Payable

Required:

ice sheets for 2002 and 2001 are as follows:
2001

2002

$120,000

42,000
13,000
48,000
3,000
7,000

any, a distributor of farm

$650,000

$85,000
51,000
9,000
36,000
5,000
6,000

Prepare the operating activities section of the statement of cash flows using the indirect method.

idend shares have been

fertilizers and
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